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EXAMPLE

a. Fnd the total resistance for the series cieuit of Fig, 3.7,

b. Calculate the source curment 7.,

¢. Determume the voltages I, I, and 13

d. Calculate the power dissipated by R,. R,. and R:.

e. Determune the power delivered by the source. and compare it to the
sum of the power levels of part (d).
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VOLTAGE SOURCES IN SERIES
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VOLTAGE DIVIDER RULE
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EXAMPLE l sing the voltage divider rule, determine the voltages V" V
and I tor the series circuit of Fig.

5¥’.JE—_-F B3V | R -
- RT-Z“O*-'-Y#IO’ s E ,

R R+ Ry = Z‘f“ A 5r1e -z?k
- € «R ) 45&7&!01 “/
Ry 7 15»i07

Scanned by TapScanner



i

Scanned by TapScanner



Voltage Sources and Ground
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EXAMPLE 5.14 Find the voltage V. for the conditions of Fig. 5.38. “ M

V, = +16V Iy = 420V

W—
Nayp = \|a\\\, _/‘_ 20 =-4v

- Vpa = Ny-Na  20-/6 =4V

EXAMPLE 3.15 Find the voltage Va‘for the configuration of Fig. 5.39.

’ f 07, = o

qu:“&'*b -
dap = 20 - (~\B)
Nob 2 204 1527
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EXAMPLE Using the voltage divider rule, determine the voltages
and V2 of Fig.

E = w24\

+24
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EXAMPLE Determine Vs, Ves, and Vefor the network of Fig.
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‘No.. Example

EXAMPLE 5.2 Determine Rz, 1, and Vz]for the circuit of Fig. 5.8.

——M—WY ﬂ
-\:; Ri=100  Ry=d0 1

E: 50V Ry =711 |
T—[—if R-‘ : "
-.g 71} 2ol
EXAI!IPLE 5 3 Given Rrand I, calculate Ri and E for the circuit of
4 K0

6 kil

EXAMPLE 5.4 Determine the unknown voltages for the networks of Fig. 5.14.

- + 43N =
R, R,

<
=
(al

T EXAMPLE 5.7 For the circuit of Fig. 5.17:
a. Find Rr.

| b. Find L

| ¢. Find Viand V2.
d. Find the power to the 4Q and 64 resistors.

¢. Find the power delivered by the battery, ¢
| 60 resistors combined.
{. Verify Kirchhoff’s voltage law (clockw
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EXAMPLE 5.9 Determine 7 and the voltage across the 7€) resistor for the network of Fig.

441 7 £}

‘HT'WV’—JF_ WV
| 125V
0\ ==
4 Q
e
EXAMPLE 5.10 Determine the voltage Vi for the network of Fig. 5.27.
A !"1 -
200 60 Q2
My———WA—
R, R,
E _-'-L_ 64V

EXAMPLE 5.20 For the network of Fig.

a. Calculate Vab. -
b. Dc*ermine Vb.
¢. Calculate Vc.
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